=
<

= E =
< I =)
8 =
s | 8
S | )
e =1
b -
1072

1l """ """""" ki TM

2 3 —1 2 3
TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)

107 1

—s— DQW_VOUUUI_RUU0U0000T _Global_cmsswW__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal _ RECO
—— DQM_V0001_R000000001__Global_mkFitNew__RECO

—— DOM V0001 _R000000001__Global__mkFitNew05__RECO

= = O S U AU
2 S
> gN R
5 3
5 S
7 107
107
-910_31 3=
T T
24 a4
0.5 4} T
-1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f)
-
2
—
o
=)
<]

E N
J:y: F il D A

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o




	Contents
	Page 1


